_“TALN

apiaLo

uciaHU_LZnH4T 1

1.9

alphal3_4eX1X:cyclenum {run == 8298}

1.86

1.84

o
=}
Q

o
o
&

0.05

0.04

0.03

0.02

0.01

0 J%JM“%*L‘J“@*
110821082.510381083.8108%1084.510351085.51086

L L T L L L
110821082.510881083.10821084.510851085.51086
cyclenum

deltad46_12X4eY:cyclenum {run == 8298}

cyclenum

0.25

AIPNA4O_4e Y 4d Y

0.2

0.15

0.1

0.05

8300

3299.5

8299

3298.5

8298

3297.5

8297

3296.5

8296

alpha46_4eY4aY:cyclenum {run == 8298}

0 m%mm%m
110821082.510381083.9108%1084.510351085.51086

cyclenum

run:cyclenum {run == 8298}

110821082.510881083.4108%1084.510851085.51086
cyclenum

-2.65

-2.7

-2.75

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 8298}

T T T T TTT
-
-

110821082.510881083.910821084.510851085.51086
cyclenum

segment:cyclenum {run == 8298}

AL L |
v
H

e
- ......*...............;....... [

110821082.510881083.810821084.510851085.51086
cyclenum




usl_4eY

30

25

20

15

10

usl_1X:cyclenum {run == 8298}

L B o L B L L
N
b
N
N

[AERI ARTRIRRTTE RART] RRRRY ARTT AR
110821082.510881083.10821084.510851085.51086
cyclenum

usl_4eY:cyclenum {run == 8298}

P X
X

0 umm%%—'—“%mm*
110821082.510381083.870841084.510351085.51086

cyclenum

-10

-12

-14

-16

-18

usl_4aY:cyclenum {run == 8298}

(ARIRRRTE RRTI RN FRRTE ARRTE RAATL PR AT
110821082.510881083.4108%1084.510851085.51086
cyclenum

usl_12X:cyclenum {run == 8298}

110821082.510881083.4108%1084.510851085.51086
cyclenum

usl_4eX

8300

3299.5

8299

3298.5

8298

3297.5

8297

3296.5

8296

usl_4eX:cyclenum {run == 8298}

0 -‘-‘JWJ@JLA
110821082.510381083.870841084.510351085.51086

cyclenum

run:cyclenum {run == 8298}

110821082.510881083.810821084.510851085.51086
cyclenum



usr_1X:cyclenum {run == 8298}

o

AKX

-100

-120

110821082.510881083.10821084.510851085.51086
cyclenum

usr_4eY:cyclenum {run == 8298}

N
o

usr_4eY
=
o

=
)

14

12

10

110821082.510881083.70821084.510851085.51086
cyclenum

usr_12X

usr_4ay

usr_4aY:cyclenum {run == 8298}

X

X

X

-4

T
H

111 1 L vl
110821082.510881083.5108%1084.510851085.51086

cyclenum

usr_12X:cyclenum {run == 8298}

X

X

X

110821082.510881083.9108%1084.510851085.51086

cyclenum

usr_4eX
[
©
o

[
@
=]

140

120

100

80

60

40

20

8300

3299.5

8299

3298.5

8298

3297.5

8297

3296.5

8296

usr_4eX:cyclenum {run == 8298}

110821082.510381083.870841084.510351085.51086

run:cyclenum {run

cyclenum

== 8298}

110821082.510881083.8108%1084.510851085.51086

cyclenum




16900

16800

16700

16600

16500

16400

16300

-500

-1000

-1500

—-2000

-2500

-3000

-3500

usl_coill:cyclenum {run == 8298}

INERICRTRI RRTTE RRRTI AR ARRTH RART] FAT)
110821082.510881083.10821084.510851085.51086
cyclenum

usl_caoil6:cyclenum {run == 8298}

>.K H H H >K

T EYTRY ERTEY FUTTY FYRTY FUTTY PUTEL FOT T
110821082.510881083.410821084.510851085.51086

cyclenum

2420

2400

2380

2360

2340

2320

13000

2500

2000

1500

1000

500

usl_coil3:cyclenum {run == 8298}

110821082.510881083.4108%1084.510851085.51086
cyclenum

usl_coil7:cyclenum {run == 8298}

0 110821082 .51?*@31083.&i2%11084.510851085.51086

cyclenum

- 6000

)

JI

115800
5600
5400
5200
5000
4800
4600
4400

4200

8300
3299.5
8299
3298.5
8298
3297.5
8297
3296.5

8296

usl_coil4:cyclenum {run == 8298}

vl b b b b b e bes
110821082.510881083.910821084.510851085.51086
cyclenum

run:cyclenum {run == 8298}

110821082.510881083.810821084.510851085.51086
cyclenum




14200

14400 F
14600 F
14800
15000 F
15200 F

15400 F

15600

-500

-1000

-1500

-2000

-2500

-3000

usr_coill:cyclenum {run == 8298}

vl b b b bevs b e b
110821082.510881083.10821084.510851085.51086
cyclenum

usr_coil6:cyclenum {run == 8298}

b A IR I T AT N WY W I
110821082.510881083.410821084.510851085.51086
cyclenum

-1900

-1950

—-2000

-2050

-2100

-2150

—-2200

35000

30000

25000

20000

15000

10000

5000

usr_coil3:cyclenum {run == 8298}

g

110821082.510881083.4108%1084.510851085.51086
cyclenum

usr_coil7:cyclenum {run == 8298}

0 110821082 .51?*@31083.&i2%11084.510851085.51086

cyclenum

6000

5500

5000

4500

8300

3299.5

8299

3298.5

8298

3297.5

8297

3296.5

8296

usr_coil4:cyclenum {run == 8298}

bl L L L i
110821082.510881083.910821084.510851085.51086
cyclenum

run:cyclenum {run == 8298}

110821082.510881083.810821084.510851085.51086
cyclenum



i

) -128

>

i
-130
-132
-134
-136
-138

-140

-230
-232
-234
-236

-238

1X_coill:cyclenum {run == 8298}

110821082.510881083.10821084.510851085.51086
cyclenum

4eX_coill:cyclenum {run == 8298}

[l K

110821082.510881083.410821084.510851085.51086
cyclenum

LA_CUNIS

N
N
o

et
NG
i

1X_coil3:cyclenum {run == 8298}

12

11.8

116

114

-23.6

-23.8

-24.2

-24.4

-24.6

-24.8

110821082.510881083.4108%1084.510851085.51086
cyclenum

4eX_coil3:cyclenum {run == 8298}

110821082.510881083.4108%1084.510851085.51086
cyclenum

1X_coil7

4eX_coil7

~
3]
o

200

150

100

50

o
3]
=]

200

150

100

50

1X_coil7:cyclenum {run == 8298}

Loid
110821082.510881083.870821084.510851085.51086
cyclenum

4eX_coil7:cyclenum {run == 8298}

110821082.5:

81083.9.

21084.510851085.51086
cyclenum




yclenum {run == 8298}

4aY_coil7:c

yclenum {run == 8298}

4aY_coilé:c

yclenum {run == 8298}

4aY_coild:c

110821082.510881083.810841084.510851085.51086

L1109” AeY

—50 0

110821082.510881083.5108%1084.510851085.51086

110821082.510881083.8108%1084.510851085.51086

295.5

293.5

292.5

291.5

20101

cyclenum

cyclenum

cyclenum

yclenum {run == 8298}

4eY_coil7:c

yclenum {run == 8298}

4eY_coilé:c

yclenum {run == 8298}

4eY_coild:c

-
-

110821082.510881083.8108%1084.510851085.51086

L1109 A8y

110821082.510881083.9108%1084.510851085.51086

-140-

110821082.510881083.8108%1084.510851085.51086

©
N
1100~ At

PAo) PP PN PRV IR FRUTL PYTRL FRUTY IVUT1 POV IO

272

cyclenum

cyclenum

cyclenum



-234

-236

-238

—240

—242

)

12X_coil6

12X_coill:cyclenum {run == 8298}

X
S e .

L L T L L L
110821082.510881083.10821084.510851085.51086
cyclenum

12X_coil6:cyclenum {run == 8298}

0 J%JM“%*L‘J“@*
110821082.510381083.8108%1084.510351085.51086

cyclenum

-89.5

Len_vuni

-100

-200

-300

-400

-500

12X_coil3:cyclenum {run == 8298}

[ARIRRETE ARRTI ARRN1 ARTTE FART] RRARL ARATY AT
110821082.510881083.4108%1084.510851085.51086
cyclenum

12X_coil7:cyclenum {run == 8298}

K

T T T
.
1

110821082.510881083.4108%1084.510851085.51086
cyclenum

12X_coild
©

8300

3299.5

8299

3298.5

8298

3297.5

8297

3296.5

8296

12X_coil4:cyclenum {run == 8298}

vl b b b b b e bes
110821082.510881083.910821084.510851085.51086
cyclenum

run:cyclenum {run == 8298}

110821082.510881083.810821084.510851085.51086
cyclenum
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